* %

Addieren

Aufgabe 1 Aufgabe 2

. 1749 + 1319 = 1. 1393 + 941 =
2. 820 + 683 = 2. 1493 + 696 =
3. 2352 + 753 = 302111 + 1676 =
4. 1238 + 559 = 4. 2492 + 598 =
55 1469 + 1112 = 5 1487 + 919 =
6. 2453 + 966 = 6. 2350 + 2232 =
701293 + 1027 = 7. 1631 + 1541 =
8. 2443 + 1073 = 8. 2426 + 1943 =
9. 1842 + 1689 = 9. 2484 + 1345 =
10, 2058 + 1019 = 0. 2061 + 1870 =
Aufgabe 3 Aufgabe 4

1. 1367 + 615 = 1. 2092 + 1598 =
2. 1990 + 875 = 2. 1428 + 1130 =
3. 2358 + 2235 = 3. 2399 + 1438 =
4. 885 + 881 = 4. 1495 + 535 =
5 1974 + 817 = 5 2464 + 1262 =
6. 2200 + 885 = 6. 2010 + 1243 =
7. 703 + 619 = 7. 2309 + 1084 =
8 1124 + 910 = 8 1553 + 938 =
9. 2253 + 722 = 9. 2394 + 1750 =

10 2396 + 1837 0. 2079 + 1257 =
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* %

Addieren

Aufgabe 1 Aufgabe 2

. 1749 + 1319 = 3 068 1. 1393 + 941 = 2 334
2. 820 + 683 = 1503 2. 1493 + 696 = 2 189
3. 2352 + 753 = 3105 30 211 + 1676 = 3 787
4. 1238 + 559 = 1797 4. 2492 + 598 = 3090
5 1469 + 1112 = 2 581 5 1487 + 919 = 2 406
6. 2453 + 966 = 3 419 6. 2350 + 2232 = 4 582
701293 + 1027 = 2 320 7. 1631 + 1541 = 3172
8. 2443 + 1073 = 3516 8. 2426 + 1943 = 4 369
9. 1842 + 1689 = 3 531 9. 2484 + 1345 = 3 829
10. 2058 + 1019 = 3 077 0. 2061 + 1870 = 3 931
Aufgabe 3 Aufgabe 4

1. 1367 + 615 = 1982 1. 2092 + 1598 = 3 690
2. 1990 + 875 = 2 865 2. 1428 + 1130 = 2 558
3. 2358 + 2235 = 4 593 3. 2399 + 1438 = 3 837
4 885 + 881 = 1766 4. 1495 + B35 = 2 030
5 1974 + 817 = 2 791 5 2464 + 1262 = 3 726
6. 2200 + 885 = 3 085 6. 2010 + 1243 = 3 253
7. 703 + 619 = 1322 7. 2309 + 1084 = 3393
8 1124 + 910 = 2 034 8 1553 + 938 = 2 491
9. 2253 + 722 = 2 975 9. 2394 + 1750 = 4 144

0. 2396 + 1837

4 233 10, 2079 + 1257 = 3336
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